T coomiones

A= =
0) Bx—2x-5=0 <2i o 6

b)

2 a =
"x#-zX-K-ZO:O{b;g
C =

20 i GZ
o -83le4+8o -9+ iy —niie S ,L 1)
e =

=2 =2 2 ~e722:(lo)
oblecia 4 5 {o) reslames~
*rep Q&ﬂiduc_l_(',/))
y ) Anidac
(PLW Mo @ x40 ) X4 12 -2 = X9
M?Wdo Mataga 0 : X - X-2 |

2= 20X 2) a2k =y X206 g

el P( o & el clo'_-:\e clel

'abu\éa = e

=\ in\er MAMeD € - X+12= J5+427(7_f}
g SebuMpLo MAwAD €5 - X -(/15

(,A,\ Le (9340 3 wdfkd!h {CMJQ 2\ H 12 ’%’V\L e udu%‘.)
Problewna 2
/
flces = hone » cltiwio
Neo +\V/\f,
al‘f- 83: X: (2\‘(4’5) ‘:L‘fdeJl
X — e, 33 - 942, - rw(c}uh/u
O=2x%5x-33
2% + =
o s _—Sim__gi/’:}f\{"
Ginco aaidadeS maver X= Y - Y

A ok doble cle o altuna  aMI XD bupe: 244 -

—

Escaneado con CamScanner

. -



